
MONTANA WOODWORKS, INC.  

 
Assembly Instructions for Single Pedestal Table 

 
Thank you very much for purchasing our heirloom quality single pedestal table.  Should you have any questions or need 

to contact sales or support, please do not hesitate to contact our corporate offices at 888.889.3728 or via E-Mail at: 

cs@montanawoodworks.com  

 

Before beginning assembly please take a few moments to read the instructions carefully, understanding each step.  

Likewise please also ensure that the hardware package contains the items as described here.  Note: a ratcheting wrench 

can be a considerable timesaver during the assembly process. 

 

Tools Needed: ½” wrench, Phillips screwdriver 

 

Parts List: (1) Pedestal Post  (4) Wooden Legs  (4) Top Braces  (1) Table Top 

 

Hardware List: (16) 5/16” Course Thread Nuts (16) 5/16” Flat Washers (8) 3” Phillips Wood Screws 

  (4) Leg Levelers 

 

Steps: 1.     Place pedestal post upright on floor.  (Hole locations are the same. Either end up works fine!) 

 2.     Attach 4 wooden legs to the post using 5/16” washers and nuts. 

 3.     Screw leg levelers into each leg.  Ensure they are completely seated. 

 4.     Carefully turn pedestal post over so that pedestal post is upright with legs resting on floor. 

 5.     Attach the four top braces to the pedestal post using 5/16” washers and nuts, ensuring the braces are as even   

                          with the top as possible. 

 6.     Gently place the table top face down on a clean and padded surface being very careful not to scratch or dent  

                           it.  Turn pedestal assembly over carefully placing it on the table top, aligning top braces with the outline  

                           drawn on the underside of table top. 

 7.     Using 3” Phillips head screws, secure the top braces to the table top making certain that the braces are flush  

                           against the table top. 

 8.     You are now ready to turn the table upright.  With the assistance of another person, turn the table over.  You  

                           may want to place a clean, padded surface under the table edge to protect it from damage. 

 9.     Adjust the four leg levelers on legs so that the table is level and does not wobble. 

 

PROUDLY MADE IN THE U.S.A. 

 
Pine requires a good sealant.  We recommend two coats of varnish being applied per manufacturer’s directions.  The table 

may be stained prior to the application of the varnish. 

mailto:cs@montanawoodworks.com

